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Qn no. Key Score

1 a) 121

b) 3
2

2 a) 6

b) 8
2

3 (x+2)(x−2)
2

4 a) 5

b) x2
+ y2

=9
2

5 a) First term = 8

    Common difference  = 3

b) 5n+3

3 

6 a)  10√2cm

b) 5√2cm

c) 5√2cm

3

7 Construction
3

8 a) 1

b) x+1

c) (x−1)(x+1)+1=x2
−1+1=x2

3

9 C(9 ,2) ,B(6,−1), D(6,5)
3

10 a) 1800

b) < A=700

3
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    <C=1100

11 a) 10 cm

b) 13cm

c) 260cm2

3

12 a) 25

b) n2

c) n

d) 2020

4

13 Construction
4

14 a) 50

b) 30
50

c) 30

d)
20×30
50×50

4

15 a) 18 cm

b) (9+x )
2
+(9−x)2

=164

      x=1

      AB=10cm
   

4

16 a) 4 cm

b) 4 √3cm

c) Draw triangle PQR with PR=4cm ,QR=4 cm ,and< R=1200  

4

17 a) 1

b) (x2
−32

)−7(x−3)

4
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   (x−3)(x−4)

c) 3 , 4

18 a) 5 cm

b) AP =AQ
 
    AP=BP , AQ=CQ

c) 5cm

4

19

4

20 a) 12cm

b) 4 cm

c) r=4 cm , h=8 √2cm

d) 1200

4 

21 a) −1

b)  5− y=5

       0

c)( (5 ,0)

4

22 a) 8

b) 80

c) Common difference=
8−16
5−3

=−4

    x1=8−4×(−4)=24

5
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    24 ,20 ,16 ,...... .

23

In triangle ACD   < D=300 ,<CAD=300  

AC=12m

sin 60
0
=

AB
12

AB=6√3m

5

24 Construction 5

25 a) 3

b) (x−5)
2
+( y−3)2

=9

c) 3

d) 5

5

26 a) 144π cm2

    288π cm3

b) 72π+36 π=108π cm2

   144π cm3

5

27 Mark Number of children

 Below  10 4

 Below  20  11

 Below  30  21

 Below  40  33

 Below 50  41

     Median = mark of 21st child

5
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   d=
10
10

=1

a) 20.5

b) Median=20.5+9×1=29.5

28 a) 250

b) 500

c) < APC=250

  1150

d) 900

5

29 a) −1

b) 1

c) 22

d) −22

e) 0

f) 2n+1

6
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